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Ex. What volume of solution is required to dissolve 1.75 mol to
make a 0.95 mol/L solution of CaCO; ?
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Ex. A sample of laboratory ammonia solution has a concentration
of 14.8 mol/L. What mass of ammonia is present in a 25.0 mL
sample of this solution?

NH; C-m
C-w.gmol[L
= ¢
™ UGl = N
\(= 250 0. 0250L
= 0.02s0L

N = (4 8ral/LY0.025L)
Nn: 031 mo\

O.31md NHz x _I1.0g Nils :@
| ma N3

N> (Lol F Glot) = 1104 g el |



Day 64 - Concentration after.notebook May 22, 2013

Practice Problems

p. 481 #8,9
p. 483 #10,11
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